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We obtain a criterion for existence of solutions of Noetherian boundary value problem for a de-
generate system of ordinary differential equations with impulse effect of general form in case when
degenerate system of differential equations can be reduced to central canonical form.
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B(t)
dx

dt
= A(t)x(t) + f(t), t ∈ [a, b] \ τi, 	��

Mix(τi + 0) +Nix(τi − 0) = αi, 	&�

��� !��� �����'�� !������� ������� �
��� � ��� �

�x(·) = α0, 	(�

�# τ0=a<τ1< · · ·<τp<b= τp+1 ) %���� ��� ���#��� *���+ A(t), B(t) ) (n × n)�
 ���
�� ���
��� ! �������� �#�#
#
 ���� �� [a, b] ������#�����, detB(t) ≡ 0+
f(t) ) n� ���
�� �#�#
#
 �� �� [a, b] %������+ � ) m0� ���
��� ��������  #���
�
%���������, � : C1[a, b]→ R

m0 + α0 ) m0� ���
��� ������� ������  #���
+ Ni, Mi

) �
�������� (mi × n)� ���
�� ������ ���
���, 1 ≤ mi ≤ n�
-����� �  ������ ����$ !���*� 
�!���������  �
���. /������. � ��
� � 0��,

�
� B(t) = E ��
���1�� ����#�� ! �*����. ��%#
#��������. 
� ���� ��
�
��������  ������ ! ���������' ��1', ��� /��� �#������ 
�!�������  /������.
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#
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#��
���� �� �� [a, b]\{τi}, i = 1, p %�����'

x(t) =

{
x0(t), t ∈ [τ0, τ1],

xi(t), t ∈ (τi, τi+1],

! 
�!
� ��� �#
8��� 
���  ��*��. t = τi, ��� !��� �����1 ����#�� 	��, �������
��� ��� � 	&� �� �
��� � ��� � 	(�� ;��#��   �
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	������� ������	�	� xj(t) ∈ C[τj, τj+1]� j = 0, p�
xj(τj)=xj(τj+0)= lim

t→τj+0
xj(t)� � �� ��
���
�� � ����������� 
���	� �����

x(τi)=x(τi−0)=xi−1(τi)= lim
t→τi−0

xi−1(t), i=1,p.

� �������� C1([a, b],Rn) ���������� 
�������������� n��������� �������
������� ��
������� ����	��� L �	 ��������� 
� � ��� ����	��� L�!

L(t) = A(t)−B(t)
d

dt
, L�(t) = A�(t) +

d

dt
B�(t).

��������� � " #$%&	 ������� B(t) ��	 
����
�� ��
��
�� ��������
������
�� s ���
��
� ��������� L(t)� ���� ��
���� 
�
������ �������
ϕ1(t), . . . , ϕs(t) ∈ C1([a, b],Rn)� ��� ��� ���� t ∈ [a, b] ��������
���� ��������

���

�

B(t)ϕ1(t) = 0, B(t)ϕi(t) = L(t)ϕi−1(t), i = 2, s,

� ���
�

�
B(t)z = L(t)ϕs(t)

� 
��
�� ����� t ∈ [a, b] 
� ��	 ���� �����!

'��	� ����(� r ���
	����� �	��(���� 
	�
����� si� i = 1, r �	����� B(t)

��
����� ����	���	 L(t)� ��� ���	
	(� �� 
 �������� ϕ
(j)
i (t) ∈ C1([a, b],Rn)!

B(t)ϕ
(1)
i (t) = a, i = 1, r,

B(t)ϕ
(j)
i (t) = L(t)ϕ

(j−1)
i (t), j = 2, si, i = 1, r.
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 "#$%&	 "����
���� 
�#���� ������� B(t) ���
��
� ��������

�� L(t) 
�������� �����
���� ���� �������� ϕ
(j)
i (t) ∈ C1([a, b],Rn)� j = 1, si�

i = 1, r� ��� ������� � ��� r ��
����� 
����
���� ��
��
��� ������� B(t)
���
��
� ��������� L(t)!

)���
 ψ
(1)
i (t)� i = 1, r ��
�	*��� ��	��� ������� �	����� B�(t)� ��� ��
����
�

	(� ++ ��� ����� 
�	*���(!

B�(t)ψ(1)
i (t) = 0, i = 1, r.

��������� � "#$%&	 "����
�� 
�#�� ������� B(t) ���
��
� ��������� L(t)

�����	���� ���
��� ����

det‖〈L(t)ϕ(si)
i (t), ψ

(1)
j (t)〉‖ri,j=1 	= 0 ∀t ∈ R.

,	(� ����� �	������ ����
�����-

��
� � "#$%&	 $���� ����
������ �����%
&' rankB(t) = n− r = const ∀t ∈ [a, b](
)' ������� B(t) ��	 ��� ���� t ∈ [a, b] ���
�� 
����
�� 
�#�� ��������

ϕ
(j)
i (t)� i = 1, r� j = 1, si ���
��
� ��������� L(t)� ���� ������	���� � r 
�����


���� ��
��
��� ������
�� si, i = 1, r(
*' A(t), B(t) ∈ Cq−1([a, b],Rn)� �� q = max si!
+��� ������� B�(t) ������ 
� �������� t ∈ [a, b] ���
�� 
����
�� 
�#�� ���

������ ψ
(j)
i (t) ���
��
� ��������� L�(t)� ���� ������	���� � 
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��� ��	�� ���� �� �	�� ��
��
� 
�	�	�
����� ��� ���� t ∈ [a, b] (n × n)���
���� P (t), Q(t) ∈ Cq−1([a, b],Rn) 
���� �	 �
������
�
� �
	 �

� ���
�

� ��� ����� 
� P (t) � ����
�

x = Q(t)u

���	� �
� ���
��� ��� ��	��
��� �	 ���
��� � ��

����
�� ��
	
�!
�� "	���[
En−s 0
0 I

]
du

dt
=

[
M(t) 0
0 Es

]
u+ g(t),

��

g(t)=P (t)f(t), g(t)=col(g(1)(t), g(2)(t)), g(1)∈Rn−s, g(2)∈Rs,

s = s1+. . .+sr� I = diag{I1, . . . , Ir}� Ij # 
����	
�


� ��	�� $	���
� �	�����
sj (j = 1, r)� M(t) ∈ Cq−1([a, b],Rn)�

	� 
���
��� ����������� ��	
��
	��� �� �	�����
��� ����	 ���	 �� 
��
�
�� ��
������ ���	��������� � � !���� 
���
������� �	�
��� ��� ���� ��
	

�	������ �� "��
������# ����� $��# %���	&

�����$	�� $���� Xn−s(t) 
� Yn−s(t) ' %�������
���� (n × (n − s))(�	� �� 
��
�	" � �
��
" ��	) * ����+�����	 � �
�� ��� ����� ���# �	�������# �	�
��	

B(t)
dx

dt
= A(t)x(t), �,�


� �
������# �� �,� �	�
��	

d

dt
B�(t)y = −A�(t)y;

c0 ' (n−s)(�	� ��	! ���
��(�
��
$	� ��� ���	) �
��	)- R(t)=
(
Ψ�(t)L(t)Φ(t)

)−1
&

.���� Φ(t)  Ψ(t) 
����$	�� n× s(�	� �� ��
�	" � �� �������
��� � ���
�� ��
�� �
�����
� �������� �����	 � �
�� ��� ��
�	" B(t) � ������ �
���
���
L(t)  
����
�������# ��
�	" B�(t) � ������ �
���
��� L�(t)/

Φ(t) =
[
ϕ
(1)
1 (t), · · · , ϕ(s1)

1 (t);ϕ
(1)
2 (t), · · · , ϕ(s2)

2 (t); · · · , ϕ(1)
q (t), · · · , ϕ(sq)

q (t)
]
,

Ψ(t) =
[
ψ

(1)
1 (t), · · · , ψ(s1)

1 (t);ψ
(1)
2 (t), · · · , ψ(s2)

2 (t); · · · , ψ(1)
q (t), · · · , ψ(sq)

q (t)
]
.

0�� �������	! ����+���� �	��������# �	�
��	 ��� ��* �	���� ���/

x(t, c0) = x0(t, c0) = Xn−s(t)c0 +
t∫
a

Xn−s(t)Y �n−s(σ)f(σ)dσ−

−Φ(t)
(

q−1∑
k=0

Ik dk

dtk
R(t)

)
Ψ�(t)f(t),

�1�

� ��� � #  �
�������� �������� � 
�$" t = τ1 
������	�� ����+���� x(t) =
x0(t, c0) �	����� �1� �  �
������ t ∈ [τ0, τ1] �� (n − s)(
�����
�	$�	! ����+����
x1(t)/

x1(t) = x1(t, c1) = Xn−s(t)c1 +
t∫

τ1

Xn−s(t)Y �n−s(σ)f(σ)dσ−

−Φ(t)
(

q−1∑
k=0

Ik dk

dtk
R(t)

)
Ψ�(t)f(t), c1∈Rn−s,

�2�

����� ������ ���� �! ��"#�$ %&''$ ��(� %% $ ) %
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���� �����	
��� �� ���

���� [τ1, τ2]� ������� ��� ���� �����	������ ������
��� �
� i = 1� �

�	� �� ��� � �
�



������ !���"�# x1(t) = x1(t, c1) � ��	"�
t = τ1$ ���
�� �������� ����� ��� � "�� ��	"� ��������� 	����%

M1x1(τi) +N1x0(τi) = α1. �&�

'���������	� �(�$ �)� � �&�$ ��

���� ������
 �
����
���
 ���
�	�
 
�������

M̃1c1 + Ñ1c0 = α1 +M1γ1 −N1F1,

�
 	


� M̃i$ Ñi ��� ����� � i = 1, p *��
�� �����	��� (mi × (n − s))+����
��
���
�"�$ � 	


� Fi$ γi , n+����
�� �
���
�%

M̃i =MiXn−s(τi), Ñi = NiXn−s(τi),

γi = Φ(τi)

q−1∑
k=0

Ik
dk

dtk
R(τi)Ψ

�(τi)f(τi), Fi =

τi∫
τi−1

Xn−s(τi)Y �n−s(σ)f(σ)dσ − γi.

-������� �� ������� � ���

����� t∈(τi, τi+1] 
�������� �����	������ �� !�
��+
���

x(t) = xi(t, ci) = Xn−s(t)ci +
t∫

τi

Xn−s(t)Y �n−s(σ)f(σ)dσ−

−Φ(t)
(
q−1∑
k=0

Ik dk

dtk
R(t)

)
Ψ�(t)f(t), ci∈Rn−s,

�.�

�� ����� �	��� 	���� ��

����$ /� � ������ ��	"� �������� t = τi ����������
(n−s)+����
�� �
���
� ��������0 �����0 ci−1$ ci ������� ������������ 
�������

M̃ici + Ñici−1 = αi +Miγi −NiFi. �1�

� ������������ ������� � !���"������ ��������$ /�

�x(·) =
p∑

j=0

�jxj(·, cj),

�

�0x(·) : C1[τ0, τ1]→ R

m0 , �ix(·) : C1(τi, τi+1]→ R
m0 , i = 1, p.

2���� 	����$ �
����� ����� ��� ���
�� �������� � �� ����

p∑
j=0

�jxj(·, cj) = α0. �34�

'���������	� 
�������� xj(t) �� ���� �(�$ �.� � �
����� ����� �34�$ ��

����%

G0c0 + . . .+Gpcp =

= α0 −
p∑

j=0

�j

(
·∫

τj

Xn−s(·)Y �n−s(σ)f(σ)dσ − Φ(·)
(

q−1∑
k=0

Ik dk

dtk
R(·)

)
Ψ�(·)f(·)

)
,

�33�

�
��� ������ ������� �����
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 ! �
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���� � � � ��

�� Gj = �jXn−s(·)� j = 0, p� �����	
��
 ���� � ��� ��
 ���� i = 1, p� �����
��
�
����
 ����
�	
� ������� �	
� ���	!	"⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

G0c0 + . . .+Gpcp = α0 −−
p∑

j=0

�j

(
·∫

τj

Xn−s(·)Y �n−s(σ)f(σ)dσ−

− Φ(·)
(

q−1∑
k=0

Ik dk

dtk
R(·)

)
Ψ�(·)f(·)

)
,

Ñ1c0 + M̃1c1 = α1 +M1γ1 −N1F1,

· · · · · · · · · · · · · · · · · · · · · · · · · · ·
Ñpcp−1 + M̃pcp = αp +Mpγp −NpFp,

!#
 ������ ���
���
 
 �
��!��

Dc = α + β, ��$�

�� D %
(
m× (p+ 1)(n− s))&�
���	� ����
'!� m =

p∑
j=0

mj� � c� α � β % m&�
���	�

�����'�(

D =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

G0 G1 G2 · · · Gp−1 Gp

Ñ1 M̃1 0 · · · 0 0

0 Ñ2 M̃2 · · · 0 0

· · · · · · · · · · · · · · · · · ·
0 0 0 · · · Ñp M̃p

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
,

c=

⎛⎜⎜⎝
c0
c1
· · ·
cp

⎞⎟⎟⎠, α=

⎛⎜⎜⎝
α0

α1

· · ·
αp

⎞⎟⎟⎠,

β=

⎛⎜⎜⎜⎜⎜⎜⎜⎝
−

p∑
j=0

�j

(
·∫

τj

Xn−s(·)Y �n−s(σ)f(σ)dσ −Φ(·)
(

q−1∑
k=0

Ik dk

dtk
R(·)

)
Ψ�(·)f(·)

)
M1γ1 −N1F1

· · ·
Mpγp −NpFp

⎞⎟⎟⎟⎟⎟⎟⎟⎠
.

)���	� *�+,� 	������	�� � ������	"�� 
����� �
���	���� ��	�-	� 	���	����	� 
������� �	� �
����
 ��$� � 
���� ������	��"	����

PD�v (α + β) = 0, ��.�

� 
 �
���#
   �
#�	�		! �����!�#
 �
����
 ��$� ����" �
��!�

c∗ = c∗(ξ) = PDuξ +D+(α + β), ξ ∈ R
u,

����� ������ ���� �! ��"#�$ %&''$ ��(� %% $ ) %



�� �� �� �����	
 �� �� �����	

�� c∗=col(c∗0(ξ), · · ·, c∗p(ξ))∈R(p+1)(n−s)� � ����� PDu �	�
���
	
(
(p+1)(n− s)× u)�

�
���
� ����
��� u = (p+1)(n−s)−r� r = rankD ≤ min
(
(p+1)(n−s),m)� ���

����������� � ��
��
	 
������

� ��	�����
(
(p+1)(n−s)×(p+1)(n−s))��
���
	�

����
�� PD� ��� � 	��	��	���	�	� � ��	��	�� R(p+1)(n−s) 
� 
��� ��	���� Ker(D)
����
�� D�

PD :R(p+1)(n−s)→Ker(D), Ker(D)=PDR
(p+1)(n−s),

��
�	�� ��	���� ����
�� PDu ���	����� �	�

� ���
� ���� Ker(D) !���� PD�v
�����	 �	�
����
 (v ×m)��
���
� ����
��� v = m− r� ������
 ��	� � ��
��
	

������
� ����
 ����
�� PD� � ���� � ��	� ���"�� � 	��	��	���	�	� � ��	��	��
Rm 
� 
��� ��	���� Ker(D�) ����
�� D��

PD� :R
m→Ker(D�), Ker(D�)=PD�R

m,

��
�	�� ����
 ����
�� PD�v ���	����� �	�

� ���
� ���� ����
�� D� 
#��
� �

	�� �	���	 �$	��������
 	�
	�

� ��������� 

������� �� ����� ���	
��
��� ��	�� ���� �� ����	�� ������ %&'�%(' � ���
�	������� 
	�� � 
����� 
	��� �	�� ���	
��
��� ��	�� %&('� ���  �	�� �	
�
�
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x(t) = x(t, ξ) =

⎧⎨⎩ x0(t, c
∗
0(ξ)), t ∈ [τ0, τ1],

xi(t, c
∗
i (ξ)), t ∈ (τi, τi+1],

%&)'

�� i=1, p� c∗j(ξ)∈Rn−s� ξ ∈ R
u� j = 0, p�

xj(t, ξ) = Xn−s(t)c∗j(ξ) +
t∫

τj

Xn−s(t)Y �n−s(σ)f(σ)dσ−

−Φ(t)
(

q−1∑
k=0

Ik dk

dtk
R(t)

)
Ψ�(t)f(t).
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���� ⎛⎝ 1 3 1
2 7 3
1 4 2

⎞⎠ dx

dt
=

⎛⎝ 2 3 2
3 4 5
5 7 1

⎞⎠x+

⎛⎝ 2
−3
2

⎞⎠ , ����

	 ���������� 	�������� 
������(
1 0 0

0 1 0

)
x(2 + 0) +

(
1 0 0

0 1 0

)
x(2− 0) =

( −203
9

1

)
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�
�� 	���
������ 
����
� ���
�

x(0) + x(4) =

⎛⎜⎜⎝
1

−197
15

−137
5
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P =

⎛⎜⎜⎝
11
2

−3
2

−3
2

2 −1
3
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3

1
6
−1

6
1
6
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x(t) = Qy(t), Q =

⎛⎜⎜⎝
5
3

2 0

−1 −1 1

1
3

1 0
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1 0 0

0 0 1

0 0 0

⎞⎟⎟⎠ dy

dt
=

⎛⎜⎜⎝
−1 0 0

0 1 0

0 0 1

⎞⎟⎟⎠ y +
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2
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3
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15
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25 25e−4

−15 −15e−4
5 5e−4

25e−2 25e−2

−15e−2 −15e−2

⎞⎟⎟⎟⎟⎟⎟⎟⎠
(
c1

c2

)
=

1

18

⎛⎜⎜⎜⎜⎜⎜⎜⎝

1674− 17630e−2 + 19475e−4 − 1845e2

−5022
5

+ 10578e−2 − 11685e−4 + 1107e2

1674
5
− 3526e−2 + 3895e−4 − 369e2

−595 + 1845e−2

357− 1107e−2

⎞⎟⎟⎟⎟⎟⎟⎟⎠
.

��������� �������� �� �
��		� ���	�
�� � 
�
�
	��� ���� ������ �� � ���
���!

����� ����"�	� �	���		� c1� c2 � ����� ���� ����"�
� ���� ���� ���#���� ������

����!�����

x(t)=

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

1
90(e4−1)

⎛⎜⎜⎝
5(−171e−t+4−17035e−t+2+19475e−t−1845e−t+6+1017e4−1017)

−3(−171e−t+4−17035e−t+2+19475e−t−1845e−t+6+1205e4−1205)

−171e−t+4−17035e−t+2+19475e−t−1845e−t+6−225e4+225

⎞⎟⎟⎠
��� 0 ≤ t ≤ 2,

1
90(e4−1)

⎛⎜⎜⎝
−5(19304e−t+4 − 18880e−t+6 − 1017e4 + 1017)

3(19304e−t+4 − 18880e−t+6 − 1205e4 + 1205)

−(19304e−t+4 − 18880e−t+6 + 225e4 − 225)

⎞⎟⎟⎠
��� 2 < t ≤ 4.
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